STANDARD  MCQ's

1- An 18 yr old boy found on routine medical chick up  to have an ejection systolic murmur at the base of  the heart with fixed splitting of the second heart sound. What is the most likely diagnosis?

a) ASD
b) Fallout of tetrology

c) Aortic stenosis

d) VSD

e) Innocent murmur

Answer is a

2- A 22 yr old man has had increasing swelling of his legs, abdomen and face over the last 10 days. The urine shows proteinurea (+4) and microscopical haematourea. Blood pressure 130/75mmHg. His urea is 4mmol/l, albumin 9g/l ASO 40(normal), and C3(normal). The most likely diagnosis is:

a) Post-steptococcal glumeriulonephritis

b) Urticaria

c) Renal failure

d) Nephrotic syndrome

e) Nephritis associated with Henoch-Sconlein purpura

Answer is d

3- A 14 yr old girl with history of fever and joints pain over the previous week. The joint pain started on the Rt knee then transferred to the Lt knee and the Rt elbow joints. On examination, she had a red swollen Lt knee and Rt elbow joints. Which of the following is true?

a) ASO titer is very helpful investigation

b) Most likely will develop a permanent joint deformities
c) C3 &C4 are usually low

d) High RF is expected

e) Regular slit lamp examination

Answer is a

4- A 30 yr old man brought to the ER with a 10-hour history of fever  headache and lethargy. Physical examinationreveals very sick man,  a temp of 39.5C, and petechial rash. The most likely diagnosis is:

a) UTI

b) Upper resp. tract infection

c) Pneumonia

d) Meningococcemia

e) Migrain

Answer is d

5- In bronchial asthma, all of the following are correct EXCEPT:

a) Wheeze and respiratory rate are good indicators of severity

b) Cyanosis is a late sign, indicating life threatening asthma

c) The most commn triggering factor is upper resp. tract infection

d) Noctornal cough  is a feature

e) Atopy history is important

Answer is a

6- Risk factors  for  cerebrovascular accidents are all of the following EXCEPT:
a) Hypertnsion

b) DM

c) Hyperlipideamia

d) Smoking

e) Hyperthyroidism

Answer is e

7- One of the following is NOT a manifestation of vasooclusive crisis in sickle cell anemia:

a) Hand-foot-syndrome

b) Acute hemiparesis

c) Marked sudden increase in splenic size

d) Vascular necrosis of the femoral head

e) Acute abdominal pain

Answer is c

8- Which of the following is a non-cyanotic congenital heart disease?

a) Pulmonary atresia

b) ASD

c) Tetrology of fallot

d) Tricuspid atresia

e) Transposition of great vessels 

Answer is b

9- The Gower's sign demonstrates:
a) Proximal myopathy

b) Distal myopathy

c) Spinal dysraphism

d) Hysterical paralysis

e) Paraparesis
10- ECG signs of acute MI are the following EXCEPT:

a) ST segment elevation

b) Q wave

c) T wave inversion

d) T wave hypertented

e) ST depression

Answer is e

